IQANNOY B’

Salutation
1 'O npeoPitepog, Exhextii Kupig Kai 101G TEKVOLG avThg, 0D¢ £ym dyond &v
aAnOeiog—xai 00K £y® HOVOC, AALL Kol TAVTEC Ol £YVOKOTEG THV AAN0e10v—2 d1dt TV
aa0siav, Ty pévovoay &v Nuiv koi ned’ Hudv foto gic tov aidva: 3 "Eotan ped’
VUBVE xapig, Eheog, eipnvn mopd! Ocod Matpdg koi mopd Kvpiov Tncod Xpiotod,™
to0 Yiod 100 [Tatpdg, év aindeiq kai drydmn.
Walk in Christ’s commandments
4 Eyapnv Mov 611 bpnka £k TV TEKVOV 60V TeptotodvTac” &v aAnbein, kabmg
EVTOATV ELdPopev mapd tod [atpds. S Kai viv Epatd og, kupia (00y ¢ EVIOATV
YPAQ®V 60t KOviV,® GAL'P fjv Exouevd am’ dpyfc): tva dyomduey dAqrovg. 6 Kai
abtn oTiv 1 Aydnn, tva TEPITATOUEY KATA TOG EVTOLAS aTOV—alTn 0TIV 1] EVIOAN,”
Kabmg fkovoate an’ dpyis, ivo® &v avtij tepuratite.!
Beware of deceivers
7 ‘Ot moALol TAdvol eiciABov! i TOV KOGUOV, o1 Ut OpoAoyodvieg Incodv
Xp1o1oVv EpYdpevov &v capki—onTog £oTtv O mAGvog Ko O dviiypiotoc. 8 BAémete
€avToVC, tva un droiécmpev’ & eipyacaueda,” aALd pioBov TAnpn* droAdfouey.”

8100 v oAndewo rell | --- [10%] [homoioteleuton]

Keoton ued vpov £2° [48.5%] OC,CP(AV’s TR) | 12 nuwv 8B,0232 [48%] RP,HF,TR,NU | ~ v [1.5%] | ---
A [2%] (I imagine that the difficulty arose from the use of the future indicative with the verb ‘to be’, when
the optative or subjunctive would be expected. We expect “may mercy ... be with you,” not the affirmation
that it will be. If “in truth and love” is understood as modifying the pronoun, then the use of the indicative is
explained. Anyone who is in truth and love will have grace, mercy and peace. The 2™ person is presumably
correct.)

Iapo 35 A,B,048,0232 [80%] RP,HF,0C,TR,NU | ano X [20%] CP

™ upiov moov ypiotov £2° X (91.6%) RP,HF,0C,TR,CP | 23 A,B,048,0232 (6.2%) NU | ~ 32 (1.2%) | ---
(0.8%) (part of a larger omission—homoioteleuton) | one other reading (Is not the reading of the eclectic
text inferior?)

"mepiaTovvtog rell | meputatovva [15%]

°ypagawv cot kouvny £2° B (73.8%) RP,HF,0C,CP | ypagm 23 (12.9%) TR | ~ 312 XA,048 (8.9%) NU | ~ 3
vpao® 2 (3.6%) | four other variants (0.8%)

P oAl £33 A,048 [85%] | oAl RB [15%] RP,HF,0C,TR,CP,NU

deyopev £33 [32%] | eyopev (RA)B,048 [68%] RP,HF,0C,TR,CP,NU [Understood as part of a parenthetical
aside, the present makes good sense; render “(not as though writing a new commandment to you, but one
that we have from the beginning)”.]

Tgottv M evion £33 (X)048 [85%] RP,HF,0C,TR,CP | ~ 231 A,B,0232 [15%] NU

S kabwg nrovcate am apyng wa rell | ~ 51234 [20%] | 123451 RA,048Y,0232 [2%)]

ttepumatnte rell | nepunotette [15%] | mepimotnonte K

U gtonABov £+ [82%] RP,HF,OC,TR,CP | enifov (RA)B,048,0232 [18%] NU | one other variant

vamokesopev £° (75.5%) RP,HF,0C,TR,CP | amolecopev (5.2%) | amoresopev (0.4%) | amoleonte
A,B,048,0232" (17.1%) NU | amoiecetan (0.4%) | amointe (0.6%) | amoincbe X (alone) | three other
variants (0.6%)

v eipyacapeda £2° (B) [82%] RP,HF,0C, TR,NU ! 1 xata [3%] CP | eipyacacOe RA,048",0232Y [15%]

*mpn rell | Tinpng [10%]

Y anorafopev £2° (76.1%) RP,HF,0C,TR,CP | anolofouev (5.2%) | amolapnte RA,B,0232Y (17.9%) NU !
amolafete (0.6%) | one other variant (0.2%)



9 Tac 6 mapafaivov® kol un uévev &v T d1dayf] Tod Xpiotod Oeov odk Exel: O 08
pévov &v T S18ayf Tod Xpiotod,® odtog koi tov Matépa kol tov Yiov &xet. 10 Ei tig
EpyeTon TPOG LUAG KOl TOOTNV TV Sdaynv oL EPEL, U AauPdvete avtov gig oikiov:
kol «Xaipew» adtd pn Aéyete: 11 6 yap Aéyove adtd! «Xaipew» Kovmvel Toig
£pyolc avTod TOig TOVNPOIG.

Farewell

12 TToAAa Exmv U},LW vYphoev, 00K EBOVARNONVE d1d yapToL Kol us?»owog, OLM £
EATICO EAOETVE TPOG VUGG KO OTOHO TPOG GTOHO LoATica, Tva 1) XapoL Ty HAV 1
TETANPOUEVT).!

13 Aondletai og T0 Tékva TG ASeApTic cov Thig dxhektiic. Apnv.)

zrapapavev £2° (99%) RP,HF,0C,TR,CP | npoaywv XA,B,048,0232 (1%) NU (Is not the ‘Alexandrian’
reading inferior?)

48¢ £33 [20%] | --- RA,B [80%] RP,HF,OC,TR,CP,NU (Would not John, a Jew, be more likely to write the
conjunction?)
®zov ypiotov £° (89.6%) RP,HF,0C,TR,CP | --- XA,B,048 (4.4%) NU | part of a larger omission—
homoioteleuton (6%) (The ‘Alexandrian’ omlssmn agrees nicely w1th their notions of style.)

¢yap reyov £2° [93%] RP,HF,0C,TR,CP | ~ 21 XA ,B,048" [5%] NU | 2 [2%]

4ot rell | --- [30%]

¢ gBovAndnv 2° XA,B,048 [70%] RP,HF,CP,NU | nfovinonv [30%] OC,TR
Fod £33 [45%] | aAha XB [45%] RP,HF,0C,TR,CP,NU ! ~ yop A,048 [9%] | ~ && [1%]

gelbetv 20 (87.8%) RP,HF,OC,TR,CP | yevesOar RA,B 048 (12.2%) NU
"nuwv rell | vuov A,B [20%)]

n nsn?»np(ousvn 35 A,048" [98.5%] RP,HF,0C,TR,CP | ~ 21 B[1.5%] NU | ~ 1 nv X

Japmv £33 (89.4%) RP,HF,0C,TR,CP | --- RA,B,048 (8. 8%) NU | n yopig uew oov (0.4%) | n yopig LETO GOV
1 (1.4%) [See the last footnote in Jude ]



